LARRTAES TETOToEDOH] ITRIKARERAFOERE (FR28EE)

(B [, %)

25l 4H 5H 6A 1R 8H 9A 108 118 128 1A 2R 3A H
B4TH 231, 960 231,960 0 242, 340 248, 160 248, 160 252, 060 0 257, 220 257, 220 342,120 342,120] 2,653,320
£ ) 6, 000 6, 000 0 6, 000 6, 000 6, 000 6, 000 0 6, 000 6, 000 6, 000 6, 000 60, 000
JO/NRVAR 2,678 1,620 2,149 1,620 1,620 2,149 1,620 1,620 1,620 1,620 2,678 20, 994
2 (m) 2.0 0.0 1.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 2.0 6.0
BEXH 535, 485 166, 282 785, 508 837, 298 938, 007 959, 157 822, 988 755, 499 834,230 1,020,494 1,084,527 972, 2421 10, 311, 717
£ (kWh) 20, 632 35, 452 37, 931 41,760 47, 453 50, 117 41,774 39, 380 44,853 57,933 61, 631 52,439 531, 355
KEF 4,071 2,635 3,164 3, 391 3,844 3,693 3,088 4,827 6, 188 6, 339 8, 532 6, 566 56, 338
2 (m) 26 Ji 14 17 23 21 13 36 54 56 85 59 411
BiEHE 5t 10, 903 14,170 17,275 15, 877 16, 147 11,142 13, 592 13, 404 14, 483 11, 062 12,198 11,187 161, 440
MER EFHAT (27-1151) 5, 827 8,012 10, 068 9,573 8,797 4,980 6, 453 1,252 7,397 4,894 4,943 5,158 83, 354
FAX (27-1152) 3,169 3,502 4,541 3,602 4,683 3,513 4,490 3,495 4,408 3,502 4,564 3,373 46, 842
N (27-1153) 1,907 2,656 2,666 2,702 2,667 2,649 2,649 2,657 2,678 2,666 2,691 2,656 31,244
H Y RERERR 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 82,152
CATV.(A =99%) , AV4-%y b (REVE-})
E£XEET 789, 265] 1,024,571 814,413 1,107,901 1,214,624] 1,230,618 1,100,723 782,196] 1,120,587 1,303,581 1,455,6843] 1,341,639( 13,285, 961
BYTHERE (A-BEH: Q) 47.9 46.6 46.3 48.6 47.2 47.2 49 4 48.7 47.7 47.1 47.6 47.6 47.17
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LRRTAES TETOToEDOH] ITRIKARERAFOERE (FR2FE)

(B [, %)

&R 4H 5H 6A 1R 8H 9A 108 118 128 1A 2R 3H Hi
=Fep:: 322, 680 0 313, 620 313, 620 0 0 333, 720 333, 720 405, 000 405, 000 420, 540 420, 540| 3, 268, 440
£ ) 6, 000 0 6, 000 6, 000 0 0 6, 000 6, 000 6, 000 6, 000 6, 000 6, 000 54,000
JO/NRVAR 2,678 2,149 1,620 2,149 1,620 1,620 2,149 1,620 1,620 2,149 2,149 1,620 23,143
2 (m) 2.0 1.0 0.0 1.0 0.0 0.0 1.0 0.0 0.0 1.0 1.0 0.0 7.0
ExH 857, 858 726,412 753, 714 810, 325] 1,001,084 1,012,926 833, 046 781,184 878, 215 977,979 1,103, 267 864, 378| 10, 600, 388
£ (kWh) 48,278 37, 488 38, 953 41,698 50, 675 51,049 40, 879 40,170 46, 598 53, 501 62, 446 46, 867 558, 602
KEH 5, 054 4,147 5,054 3,996 3,996 4, 071 6, 793 4,978 1,776 7,927 7, 851 5, 054 66, 697
2 (m) 39 27 39 25 25 26 62 38 75 71 76 39 548
BiEHE it 11, 941 9,645 12, 268 9,942 12,113 10, 184 11, 667 10, 596 12,618 10, 387 13, 180 11, 266 135, 807
AMER E7Ar (27-1151) 4,859 3,568 5,198 3,858 4,820 4,060 4,514 4,489 5,507 4,136 5, 896 5, 245 56, 150
FAX (27-1152) 4,426 3,429 4,404 3,431 4,644 3,448 4,486 3,458 4,462 3,585 4,618 3,365 47,762
N (27-1153) 2,656 2,648 2,666 2,647 2,649 2,676 2,667 2,649 2,649 2,666 2,666 2,656 31, 895
HYREFFERM 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 6, 846 82,152
CATV (A" =Y9%), 4v5-2y b (REVH™ =1")
EEEET 1,207, 057 749,199] 1,093,122 1,146,878 1,025,6659| 1,035 647 1,194,221 1,138,944 1,312,075| 1,410,288 1,553, 833| 1,309, 704| 14,176, 627
BYTHERE (A-BEH: Q) 45.8 43.9 46.3 43.1 43.6 43.5 43.3 42.9 441 42. 4 44.0 43. 4 43.9
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